SHM3FE3IA21H Xz SURLIW

A RER MR BOEHN-95T
LBRE ERT
A0SR
J-Ab—b FE=BF71. 9 AIF=>AE72. 0 AfE—>KFA72. 3
| K & ouT IN TOTAL| H'C NET Lk {ERR
BB ABEZN 40 37 77 7 70 [ES
2 if | == Ef 39 43 82 10 712 |z=vritn| HHEE
3| #wEAE= 41 41 82 10 72 |=—=vrtu| HEE
4 {ii | 3LfE —BA 43 42 85 13 712 |z=voitn| HHEBE
51| ®IlEmE 41 37 78 6 72 AT
6fi | HYEIXK 39 40 79 6 73 mEE
7| FEHE 3 41 40 81 7 74 |=—=vrtu| HEE
8 fi BL Y 42 39 81 7 74 WEE
O9fi| HEWE=E 41 43 84 9 75 |z—=vsru| BER
10 fi| A BX 37 37 74 -1 75 |z=rtm| BWH
11 | $AKE= 41 40 81 6 715 |e—=vrrw| BEH
12 fi| XxH #X 44 42 86 11 75 WEE
13 fii| <M Et 38 45 83 7 76 |=—=oru| WHE
14 {ii| BH &— 36 42 78 2 76 |=—=v7im| TR
15 §if| i $H—8p 42 44 86 10 76 |=—=oru| WHE
BOER
J—-Ab—b FE=BF71. 9 AIF=>AE72. 0 AfHE—>KFA72. 3
g {i K & ouT IN TOTAL| H'C NET i % {ErR
B snmsE | 41 41 82 14 68 |=—=srn| B
24| #AB &E# 42 40 82 14 68 MEE
3| k4K ER 50 50 100 30 70 WEE

44| A\ HHE 46 47 93 22 71 |==vota| HEE

51| N B% 48 48 96 25 71 |==vrrue| BER

6fii| EWE 47 46 93 22 71 R

7 i | #0H IER 46 42 88 16 72 [P

8| k@K EA 42 46 88 15 73 |norqttn| HEE

o i =1 (& 43 47 90 17 713 |rhoF«tin| $HiEE

10 fi| ®&EE 48 52 100 27 713 |==votu| HEE

11 6| EmE= 45 46 91 18 13 |»hoFLti| HEE
12 | %R &% 46 47 93 20 73 |F=rta| HEE
13 fiI| #E3h 53 48 101 28 73 iiE

14 I XRH 46 51 97 23 74 |==vrim) U

15 fii| RE Ex 44 45 89 15 74 |[==7m| BER




SHM3FE3IA21H

55F ~69FNiEB

AfIF RER

s
LBEERH

Xz SURLIW
BOEBHMNI-9757

El T

H 3-AbL-bk FAE=>H1F70. 2 fllF=>A%E70. 5 AE>FAT70. 5
R J—Ab—bk FHE=HF69. 0 BlF=AHE69. 1 AE>KH68. 9

| K & ouT IN TOTAL| H'C NET Lk {ERR
EB| aaE— 44 44 88 23 65 WER
200 | & Ei 43 41 84 18 66 |==riu| WEE
3fi| #®DEE 42 39 81 15 66 [ES
4 i NTE 43 43 86 19 67 WEE
5| =&E= 44 43 87 17 70 |==vvtu| HEE
6 {i mEE = 46 43 89 19 70 WEE
7 {i SH & 43 47 90 19 71 |z=rtu| HEE
8 fii| 9 X 47 44 91 20 71 WEE
9fii | RH @A 46 45 91 19 72 WER
10 fii| 8@ RS 38 42 80 7 73 |nosera| #HiEiE
11 | oh# g% 43 47 90 17 13 |z—=ort| HBE
12 fi| =R A 43 45 88 15 73 |=-=voru|MEHR
13 fi| LM X 46 43 89 16 73 [E
14 | WIE— | 50 53 103 29 74 |==7tm| BH
15 WLER 45 47 92 18 714 |==7tn| HEE
70FLUE&L T+ ADER
B (&) 3-AL—bd FE=>BIF67. 9 FlF=>H#E68. 1 HIE>FKHF67. 8
B (k) 3—-AL—b FE=>FIF65. 6 BlF=H#E65. 7 AEE=>FHA65. 5
k) a—Ab—bk FE=>BIF70. 8 BIF=>AEE70. 4 AFHE>FA71.0

(
(
i
(
(

)
)

ik (Bk) 3—-AL—b FH=>51F69. 5 BlF->hAE68. 7 AE—->KAH69. 4
)

7 (&) 3—-AL—bk KFH=>51F68. 2 BlF=>AH67. S AE=>KAH68. 1

Hfi] K & OUT [ IN [TOTAL] HC [ NET [ w%E [ @&m
BB | BERR 42 43 85 24 61 WEE
2 | ERAFT | 42 44 86 20 66 MR
3| Ltk 41 45 86 19 67 M E R
400| B E 45 40 85 17 68 i
5| XB—E 47 52 99 30 69 Sif




